H & 0l & AHS B Ml A

SN oI5l AR
I Ngelsl 29
el oZggs N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
23R = 1,872,946 2,163,231 A290,285
Agels 24 1,337,987 1,870,764 AB32,777
cggs A 1,185,587 1,752,604 NB67,017
ol cggs Nd 851,745 795,485 96,260
201 fer= 3| 70,614 55,504 15,110
01 At 2|l 59,429 44,319 15,110
Oget=EH| 54,5903 x13H +12& 9% 7,665
@ l=ni=d 220,000& * 122 2,640
OHENEZE 77,0003 x204 1,540
Ox&HIE 5,500,000& 5,500
OF=UHSEA =& 150,000& %173 2,550
o2 g2 TA7YHI
1,500,000 x22| *90f% 2,700
OJrE & AIME 1,000,000 12/ +90% 900
Otl2+=E 7,776
CESEON 20,0003 x 165+ 12 9% 3,456
o KX 12,0003 x255 % 122 x90% 3,240
o F=2HXI(XIE) 600, 0003 *2IH+90% 1,080
Og=J|&elt 540,000 * 122 *90% 5,832
OBA itz 1,100, 0002 *1CH+6 *90% 5,940
O=g)l gitz 147,000 *6IH* 122 *90% 9,526
OZge a2 7 3,900,000 *90% 3,510
@==0:] 1,500,000 *90% 1,350
O2lg 2x7| 29 50,000% *402] 2,000
02 S3=gHl 11,185 11,185 0
OxXg==U & RAHl S 8,000
o XX 3,000,000& 3,000
oHESHREU 3,000,000& 3,000
o FENEFFU 2,000,000& 2,000
Os&k= € MA 2,490
o OISSU(FEUE) AB2
70,000 *1CH* 122 840
0RBR= 300,000 300
o NIsSIEE R 1,350
SIFSEINE 560,000 *1CH 550
AREXES 800,000 1CH 800
OXS XAl 565
o MBI 500,000 1CH 500
CHTSA 65,0002 1CH 65
OstBNERYg= 130
oUREXE 65,0003 *1CH+23] 130
202 04l 41,040 24,300 16,740




SN oI5l AR
B K|gols) 2o
el oZggs N (EEEE))
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
01 =LHAHI 10,800 5,400 5,400
O2d oj8es & =aoit|
150,000 * 102 *43| x2 %90% 10,800
04 =Xl =toitl 30,240 18,900 11,340
O=2H= =30
4,200,000 8 +90% 30,240
205 23| 729,991 671,337 58,654
01 2/ E &I 171,600 158,400 13,200
OLdts =& A7l 2XESH|
1,100,000& * 132~ 12& 171,600
02 88+ 341,467 310,849 30,618
OF-FSEas) 2,188,890 13F « 122 341,467
05 oE=2gE8S&| 76,196 74,455 1,741
OLg=2d3sZl 5,861,2302«13H 76,196
07 AAALNLH(S3RE, MM LK) 8,850 5,850 3,000
O2/HAIOILt & MNRUS A= 8,850
02¥ RIEWSH|(Z2SRIE)
250,000 13 =23 6,500
02& ANRuE LAY
470,000 %52 2,350
08 QIR AZEINLH|(BI2HRIE) 30,550 28,200 2,350
O2 ASW=H|(LU2LSIE) 30,550
o2lEAEds w=H|
800,000 *13& =23 20,800
oMEn=H| 375,000 13 x23] 9,750
09 oI E 2| 65,000 60,000 5,000
OSld gx1E3|
5,000,000 *13& 12 65,000
10 A BEAMRE = 7,000 7,000 0
OLEEEISE LS
7,000,000& 7,000
N oE=0ASRE= 15,288 13,680 1,608
022 =tlds28=
98,0002 *13H 122 15,288
12 2@ =0ALRES 14,040 12,903 1,137
O =A==
80,0002 x13E~12& 12,480
O2lE #egEe=
10,0002 » 13+ 122 1,560
405 AtatE = 10,100 4,344 5,756
01 AL ESFH SHI 10,100 4,344 5,756
O=J| 2017 7 2,300
o0 0l01Z 500,000 *3H 1,500
0=3YI 400,000 2K 800
OQgal mgy 2 600, 0002 * 13K 7,800




FM CeME=
ma: Rgols 2o
el oZggs N (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
g & RN 182,730 154,450 28,280
201 er23 | 10,230 9,250 980
01 At2teltl 10,230 9,250 980
ORHMEE 500,000 * 122 *90% 5,400
Oo=2g=¢g 4,830
0ER=RYUNHAMEAIE
70,0003 »7 H*42] 1,960
o dsdE A= HH+g
70,0002 9 +23] 1,260
o SEASLN MoPE HA+E
70,0002 x3H+33] 630
o ZCIAAAIZRIEE HA+E
70,0008 7 H 23] 980
203 HR=&H] 9,000 9,000
03 A=A R =AH] 9,000 9,000
O2zlz2g 243 5,000,000 *90% 4,500
ONE & 2AFAIH FT(H2A¥Y)
5,000, 0002 *90% 4,500
205 2|3/H| 162,100 134,800 27,300
03 2@ =LHObI 15,600 9,000 6,600
OS|EBIAIZ O
150,0002 x 13 42| x2 15,600
04 2A =20 63,300 54,600 8,700
O2 =20 3,900,000« 13¥ 50,700
O=JISAAL & XHIHZ A =2104]
42,000,000 *30% 12,600
06 2lel2ggR=a| 83,200 71,200 12,000
o2 2,300,000& ~12& 27,600
OR 1,300,000& «12& 15,600
oA 1,000,000& x3& » 123 36,000
OuZAHE 1,000,000 42 4,000
301 2N = 1,400 1,400
14 0Bt 2a3 1,400 1,400
O2g&el s &4 70,0002 x20H 1,400
SIFZLIHE 29 3,100 3,780 A680
201 Ler23 | 700 700 0
03 A= &I 700 700 0
O2d2LIHE A2WS
350,000 *23] 700
301 LEtE N = 2,400 3,080 2680
11 #AIAMHIXIZ S 400 1,000 2600
OEZLIHE 2t53]
8,000 x25H *23] 400
14 0Bt 2a s 2,000 2,080 A80




SH: BlAe
IE: X|Lols 2
el oZggs N (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
IEEEEREEEST 2,000, 0002 2,000
Q3 Al &yl 2l 46,631 47,466 835
201 eet23| 46,631 47,466 A\B35
2 s=s=34l 46,631 47,466 A835
OUETH| L JIEISTYI R
3,000,000 3,000
O=23|2% M2 AAE KX 2=
1,690,000« 122 20,280
Ogt4Telsl HBTH RX T4
1,413,000 x 122 16,956
Oot4Tolsl F2IT U 39/% AAE KX
2 6,39
023 HESclE RS
539,000 ~4& 2,1%
0I5 SISIZAAY RAB4
363,250 * 122 4,239
o3 teE=cld =9 20,134 64,532 A44,398
201 Zet=3h] 20,134 9,532 10,602
01 AtR2t2|HI 20,134 9,532 10,602
ouzt 2Rt MHlA 01
1,677,800« 122 20,134
o|3 AL S 81,247 0 81,247
201 2Bt ] 20,608 20,608
01 AFR2telHl 20,608 20,608
Oz A EZTH| 20,608
ololEa =adtl 10,000,000 10,000
CHAUSTH W AYSE N
9,108,000& 9,108
OEA EEt7 H 1,500,000 1,500
401 AlEHIZL S0 52,139 52,139
01 AlZHI 52,139 52,139
O2UBIZ A BN BA 52,139
02I3IE A HSAl BA
30, 139,000& 30,139
022N S BEMH SA
22,000,000 22,000
405 AHaHE S 8,500 8,500
01 AL =S F = 8,500 8,500
OR&4 I ME 2 7Y
8,500,000& 8,500
SIdEE A& 162,400 118,160 34,240
A o ygs g2 162,400 118,160 34,240
201 ZBt=Ehl 162,400 118,160 34,240
01 AtR2t2|HI 151,350 118,160 33,190
O+ M 15,500 2+7002 10,850




SN oI5l AR
g Ngelsl 29
ol AEsE XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oddgZ 60,000,000 60,000
o2dgs oItiol 82 52,000,000& 52,000
OZ2E=8 M 10,000,000 10,000
OSZgs s22d Al & AREH
o 3,000, 0002 3,000
OsTgy BEZ2IY 9 ®ES 79
1,000,000 1,000
OxZ¥E M 30,0008 x150% 4,500
O2lzl2 M= 5,000,000& 22 10,000
03 A2 I 1,050 0 1,050
OSlglAdst T2l 24
3,500 x25& * 122 1,050
HH2LZHI(2ABIAIRR) 534,959 292,467 242,492
[2ZHI(23 AR =) 57,521 42,049 15,472
Jl23Hl HRAIE (23IAR=) 57,521 42,049 15,472
201 et 3| 26,809 19,945 6,864
01 At2t2l] 26,809 19,945 6,864
Oget=ZH] 54,5003 x23H + 123 9% 13,561
Or==1:] 8,000 x23H x641 12 13,248
202 04l 19,872 11,664 8,208
01 =LHA LI 19,872 11,664 8,208
OE&0H| 10,0002 x232 +8L x 122 %90% 19,872
203 =8| 10,840 10,440 400
01 J122geR=4a| 4,800 4,800 0
OAME=E 4,800,000 4,800
02 HRAJAHA R FAIH| 1,840 1,440 400
Ot 2| 80,0002 x23H 1,840
M EA2ER=A 4,200 4,200 0
ORNEgE =AY 4,200
o RM2IYRFTHI(R)
250,000 x 122 3,000
0 RA2EURZAHI(HEFIRY)
100,000& «12& 1,200
IHA2HHI(2ASIAIR=) 477,438 250,418 227,020
QIA2HH| NIRA(2SIAIRZ) 477,438 250,418 227,020
101 @124H| 387,575 228,49% 159,080
02 JIEtAE = 387,575 228,4% 159,080
OARIEHHMAI ISR "et's 50,880
oJlZ2= 3,032,400« 1H* 123 36,389
o FAUZAHI 140,000& x 12+ 123 1,680
oAlZeZEE
9,992 x30AI 2t 1 * 123 3,598
o S+AF2Y 232,880 «1H* 123 2,795




SN o5 AR
Hm: #AN2HAG| (2B A22)
CHel: QI 2AHH|(23IAIRR) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oJIExY 80,0002 x 1 »12& 960
o SItE &I 10,4302 14041 2t 1,461
odtHs 3,997,000 3,997
OgerIIMS 2 (7e4d) 336,69%
0ll22 3,760, 7502 46% 128 271,422
o HuUZAl| 140, 00021562+ 128 10,080
o AlZtel2Rag
11, 1303 *30AI 2H+6 2+ 123 24,041
e ] 50,0003 6 * 122 3,600
oJIE=¢ 120,000 x6& * 122 8,640
o AUt | 90,7803 6 * 12 6,537
oduAs 4,125,000 <3 12,375
201 fer=3| 6,930 11,670 N4,740
01 AtR2t2|HI 6,930 11,670 A4, T40
OLUNRARS| Fs4g
70,0002 x5 #53] 1,750
OugAd =g 300,000 x5 +23] 3,000
OClArZ & AAl FO
2,000, 0002 2,000
OQIAZR BN el
50,0003 42 x90% 180
204 Xt AH| 17,633 10,253 7,380
02 Ag=2 Xl 13,508 7,840 5,668
OAMZEHRAIIMSFE "et's HN32XL
af 135,620 x 1 * 12 1,628
2erIINSRE (724E) ASEXH
165,0002 6+ 122 11,880
03 SEH =3I 4,125 2,413 1,712
OAMZESHAI IS "et's Helgs
u 43,7031« 123 525
ORISR (724E) Helas
50,0002 6~ 12 3,600
303 Z&= 65,300 65,300
02 dlta0i=s 65,300 65,300
Odgtatois (62010t L=l
65,300,000 65,300




